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The ﬁgures in the margm lndwate ﬁzll marks
- for th&quesmns :
Answer ¢ither in English or in, Assamese
1. Answer the following qﬁéStioﬁs . . 1x10=10
TS ﬁm PP Teq ﬁm )
(@) What is inflation? - -
Tardre 2
(b) Whatis liquiiiit& ﬁ‘aﬁ? X | ;
o FT
{c) . What is meant by value of niongy?
TER o0 e Rr
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Give the meaning of trade cycle.

FfAfeTe Tt SLHr oy

Mention the IﬁétiVes ‘behind the demand

for money.

ww&mﬁ*fmw o PR (Sfdem)

TrEy T

What i is COSt—pugh inflation?
TeomA wwﬁts W 9

Mention one Ineasure of controlling

business cycle flyctuations.

Rl

What is the gg;ape of the LM curve?

LM Q@¥TPR SR £ 2

State a drawback of the IS-LM model.

IS_LM%!T%QEWWWI

Mention 2 similarity between cash
palance appr oach and cash transaction
approach to the quantity theory of

money.
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2. Answer the following questions : 2x5=10
wors A enpRRe TS T

(a) Show with a diagram the various phases
of a busmess cycle.

o e IR S orefrazar crgea |

(b) Mention twWO Major cayges of inflation.

Wﬁm@‘wﬁ‘{w«-‘l

(© State the condition of equilibrium in the
money market.

T T SN 5 Sy ey |
(d) Define IS curve ang LM curve

IS GT¥1 SIRF LM G99 Sy i |

(e) State Robertson’s
equation.

i o AR AT gy 2oy |

- cash ' balance
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3. Answer any fourofthefollowing questions :
o 5x4=20
@ 2P R @ i wag o -

(@) Why is thegg_sh balance equation
(M = PKT) of quantity theory of
money regaxqgg superior to the cash
transaction €quation (MV = PT)?

R AR Ygq wem AR TR
(M=PKT)® Qo  c@o™ €9
(MV = PT) ©3 b5 ofer fow (PRI T 2

(b) Discuss whethey there is a relationship

between incfease in money supply and
inflation.

quﬂﬁmqqﬁﬁaﬁgigmim%ayﬁﬁ$‘ﬂKiGﬂ
Wﬁ,mwl

(c) Discuss the impact of inflation on
~ production and distribution.

TR W Roqe €RS TWrHIfOT 2SR
HICAOAT 337 |

(d) What aré the pasic characteristics of a
business cyclep

AT ve nferes GRS A @IRR R 2
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Why does the IS curve slope downward?
IS o R PR e .

Briefly ‘explain the structuralist view of
inflation,

¥ﬂ4ﬁ%3sﬁwT#¥<ﬁmﬁns§erwm?ﬁﬂl

4. Answer any four of the following questions :

oo PRI R e w1 e e -

(@)

(b)

(c)

A7/842"

10x4=40Q

Explain the liquidity preference theory of
interest. What are its jjmjtations?  7+3<=10

TY O A ooy g w9 VW
SRR R 2

What is iﬁﬂationary gap? Explain
inflationary gap, with g diagram. 2+8=10
TR ey a1 e o g SITTe
gmém%awmﬁvwmﬁﬁrmmnawu

Explain Fisher’s equation of exchange.

Does it provide an adequate explanation

of the changes in the valye of money?
7+3=10

e Rfty SRt I w07 1 % @R T
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(d) Discuss Cambridge equation - for the
determination of value of money, Do you
think this equation is superior to the
Fisher’s equation? Give reasons.  6+4=10

@W@'%ﬁw‘r@zﬁwiﬁgﬁ ,
ORI 7 PRI | ’"‘

(e) “The trade cyélé is purely a monetary
phenomenon.”Explain this statement of
Hawtréy: v__D.Oﬁ” you agree with what

- Hawtrey has stated about the causes of
trade cycle? Give reasons, , 6+4=10

AR OF Y M B w1 g

. T - IR S e sy
i ge @} vome ot Tfy CIRT ? IR
w1 | , ~ .

() How is the LM curve affected by the
change in the money supply and the
demand for money? Show it graphically,

10 |

LM ¥4Tape; Rywcd 4R A9 O 4R BifRr
ARIER ¥y ereiRe 2 2 e e cryay |

A7/842 | ( Continued )




Dt |

(9)
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Explain the nature of demand-pull
inflatioi. What measures would you
suggest to control such inflation? ~ 5+5=10

TRweRe AR o I F <R
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(h)
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Discuss Hicks’ theory of business cycle. 10
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